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1   The diagram shows the apparatus used to investigate the affect of concentration of    
   hydrochloric acid on the rate of reaction with marble chips. The gas produced is     
   collected in the gas syringe.  
 
 

 

 

 

 

    

    The results of the experiment are shown in the graph below.  

 

 

 

 

 

 

 

 

 

 

1 (a) (i)  Use the graph to describe the changes in the rate of the reaction over the first 35    
   seconds.  

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 
(3 marks) 

 

 

Time (seconds)  

Volume  
of gas 
(cm3) 
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1 (b) The experiment was repeated using the following conditions. 

§ The mass and surface area of the marble chips was the same.  

§ The volume and temperature of the hydrochloric acid was the same.  

§ The concentration of the hydrochloric acid was reduced.  

1 (b) (i) The rate of the reaction decreased. On the graph, sketch a line to show the result you 
would expect for the above conditions.  

(1 mark) 

1 (b) Use your knowledge of particles to explain why the rate of the reaction decreased.   

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 
(3 marks) 

1 (b) (i) The purpose of the experiment was to see the affect of concentration on the rate of 
this reaction. Why was it important to keep the temperature the same for the second 
experiment?  

 ...................................................................................................................................... 

 ...................................................................................................................................... 

 ...................................................................................................................................... 
(2 marks) 

 (Total 9 marks) 
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2   Sodium thiosulphate solution reacts with hydrochloric acid to produce insoluble sulfur. The 
   equation for the reaction is:   
 
 

 
 
 
   The rate of reaction between sodium thiosulphate and hydrochloric acid can be increased if 
   the mixture is heated to a higher temperature. 
    
   Explain, in terms of particles, why an increase in temperature increases the rate of reaction. 
 
   ............................................................................................................................................ 
 
   ............................................................................................................................................ 

   ............................................................................................................................................ 

   ............................................................................................................................................ 

   ............................................................................................................................................ 

   ............................................................................................................................................ 
                              (3 marks) 
 
2 (a) (i) State one other way in which the rate of reaction between hydrochloric acid and sodium  
   thiosulfate can be increased. 
 
   ............................................................................................................................................ 

   ............................................................................................................................................ 
                              (1 mark) 

 
                            (Total 4 marks) 
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